CLOSURE OF SURFACE PIT

	, · · · · · · · · · · · · · · · · · · ·				
Operator Name: Berexco LLC	License Number: 34318				
Operator Address: P.O. Box 20380, Wichita, KS 67208					
Contact Person: Evan Mayhew	Phone Number: (316) 265 - 3311				
Permit Number (API No. if applicable): 15-189-22687-0000	Lease Name & Well No.: Blackstone #1-1				
Type of Pit:	Pit Location (QQQQ):				
Emergency Pit Burn Pit	SW NE SE NW				
☐ Settling Pit ✓ Drilling Pit	Sec. 1 Twp. 31S R. 35 East West				
Workover Pit Haul-Off Pit	Feet from 📝 North / 🗌 South Line of Section				
	2304 Feet from East / West Line of Section				
	Stevens County				
Date of closure: 21 August, 2010 Was an artificial liner used? ☐ Yes ✓ No					
If no, how were the sides and bottom sealed to prevent downward migration of the	pit contents? RECEIVED				
Bentonite clay in drilling mud, native mud & clay.	OCT 0.5 2010				
	KCC WICHITA				
Abandonment procedure of pit: (1) Allow to dry, (2) backfill, (3) re-contour to approximate the surrounding terrain.					
The undersigned hereby certifies that he / she is Engineering Technic a duly authorized agent, that all information shown hereon is true and correct to the					
Michael	Signature of Applicant or Agent				
Subscribed and sworn to me on this4 day of .	October , 2010				
DIANA E. BELL Notary Public - State of Kansas My Appt. Expires 9-10-11	Notary Public				
My Commission Expires: 10	, <u>2011</u>				

BEREXCO LLC

04 September, 2010

Kansas Corporation commission Oil & Gas Conservation Division Wichita State Office Building 130 South Market, Room 2078 Wichita, KS 67202-3802

SUBJECT: 2nd CDP-4 filed on following location Blackstone #1-1 SW NE SE NW Sec 1-T31S-R35W (1970' fnl, 2304 fwl) Stevens County, Kansas API # 15-189-22687-00-00

second CDP-4 filed for this location, here is the reason why: The original form, sent in on 16 February, 2010 was filed when Berexco was invoiced for dirt work at said location and the statement "Location Restoration Complete" was printed at the bottom of that invoice. In addition, a letter from the contractor indicated that this was "final restoration work on the referenced location" and that the work was completed 04 December, 2009 accompanied the invoice.

Just last week, Berexco received another letter from the contractor, saying that work was completed 21 August, 2010, which represented the final restoration work on the referenced location. I called our Foreman, Greg Klaus, and he explained that there was a reserve pit off-site, which was not fully restored until 21 August, 2010. This pit was not in the usual position in order to avoid interference with an irrigation sprinkler system. It has now been closed and the

Enclosed please find the CDP-4 for the above Stevens County location. This is a

Should you find anything lacking or incomplete, please advise me at your convenience.

site fully restored. I have enclosed copies of the pertinent documents in case they are helpful in understanding this anomaly. I leave it to you to decide whether to retain both CDP-4 forms or discard the earlier filing in favor of the

Sincerely,

Richard Smith Engineering Technician

(316) 337-8334

(316) 265-2994 (fax)

rsmith@berexco.com

RECEIVED

OCT 0 5 2010

KCC WICHITA

W & L DIRT CONSTRUCTION, INC.

150 N. MAIN, SUITE 801 WICHITA, KANSAS 67202 (316) 262-1841

AUGUST 31, 2010

BEREXCO LLC ATT: GREG KLAUS PO BOX 564 SUBLETTE, KS 67877

RE:

BLACKSTONE 1-1

Sec. 1-31S-35W

Stevens, County, Kansas

Dear Mr. Klaus:

The attached invoice represents the final restoration work on the referenced location. This work was completed AUGUST 21, 2010.

K.A.R. 82-3-602(e) requires operators of a surface pond to file a surface pond closure form within 30 days after the closure of the pond. For your convenience, we have enclosed a partially completed "CLOSURE OF SURFACE POND" form (CDP-4) to be filed with the Conservation Division of the KCC.

We would like to take this opportunity to thank you for allowing us to perform this work and hope that we may be of service in the future.

Sincerely,

ROSE MARIE SMITH

Enclosures

RECEIVED

OCT 0 5 2010

KCC WICHITA

W & L DIRT CONSTRUCTION, INC.

150 N. MAIN, SUITE 801 WICHITA, KANSAS 67202 (316) 262-1841 WELL FILE

Bill to: BEREXCO INC

ATT:GREG KLAUS

PO BOX 564

SUBLETTE, KS 67877

Invoice No.: 09-569 nvoice Date: 12/31/09

Lease Name: BLACKSTONE 1-1

Location: STEVENS County KS

O	p	е	ra	It	0	r	:

	The second state of the second second		Типровория	THE STATE OF THE S	management of the first of the second second
Date:	- Unit No.	Description of Work Performed	Hours	2 Rate	Amount
11/30/09	76-87	CLEAN OUT CATCH PIT	6.00	105.00	630.00
11/30/09	78-87	CLEAN OUT CATCH PIT.	2.00	140.00	280.00
12/3/09	78-79	BACKFILL ROTARY PIT. CUT WINDOWS IN RESERVE PIT. BACKFILL CATCH PIT.	4.00	140.00	560.00
12/3/09	78-79	CLEAN UP LOCATION.	3.00	140.00	420.00
12/3/09	78-79	STANDBY FOR 87 CLEANING CATCH PIT.	2.50	110.00	275.00
12/3/09	76-87	BACK FILL ROTARY PIT & CATCH PIT.	10.50	105.00	1,102.50
12/4/09	76-87	BACK FILL ROTARY PIT & CATCH PIT.	7.00	105.00	735.00
12/4/09	78-79	FINISH BACKFILL CATCH PIT & SMOOTH UP LOCATION	4.50	140.00	630.00
		NOTE: LOCATION RESTORATION COMPLETE.			
		RECEIVED			
		OCT 0 5 2010	į		
		KCC WICHITA	:		·

TOTAL CHARGES

4,632.50

Please pay from this invoice.

Thank You!



W & L DIRT CONSTRUCTION, INC.

150 N. MAIN, SUITE 801 WICHITA, KANSAS 67202 (316) 262-1841

WELL FILE

December 31, 2009

GREG KLAUS BEREXCO INC PO BOX 564 SUBLETTE, KS 67877

RE: BLACKSTONE 1-1

Sec. 1-31S-35W Clark County, Kansas STEVENS

Dear Mr. Klaus:

The attached invoice represents the final restoration work on the referenced location. This work was completed December 04, 2009

K.A.R. 82-3-602(e) requires operators of a surface pond to file a surface pond closure form within 30 days after the closure of the pond. For your convenience, we have enclosed a partially completed "CLOSURE OF SURFACE POND" form (CDP-4) to be filed with the Conservation Division of the KCC.

We would like to take this opportunity to thank you for allowing us to perform this work and hope that we may be of service in the future.

Sincerely,

ROSE MARIE SMITH

Enclosures

KCC WICHITA

ANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form CDP-4 April 2004 Form must be Typed

CLOSURE OF SURFACE PIT

WELL FILE License Number: 5363 Operator Name: Berexco Inc. Operator Address: P.O. Box 20380, Wichita, KS 67208 Phone Number: (316) 265 - 3311 Contact Person: Evan Mayhew Lease Name & Well No.: Blackstone #1-1 Permit Number (API No. if applicable): 15-189-22687-0000 Type of Pit: Pit Location (QQQQ): Burn Pit NE SE NW **Emergency Pit** Sec. 1 __Twp. 31S _R. 35 __ East ✓ West Settling Pit **Drilling Pit** 1970 _ Feet from 🗸 North / South Line of Section Workover Pit Haul-Off Pit 2304 Stevens 04 December, 2009 Date of closure: _ Was an artificial liner used? Yes **V** No If no, how were the sides and bottom sealed to prevent downward migration of the pit contents? RECEIVED Bentonite clay in drilling mud, native mud & clay. OCT 0 5 2010 KCC WICHITA Abandonment procedure of pit: (1) Allow to dry, (2) backfill, (3) re-contour to approximate the surrounding terrain. Engineering Technician for Berexco Inc. The undersigned hereby certifies that he / she is ____ (Co.), a duly authorized agent, that all information shown hereon is true and correct to the best of his /her knowledge and belief. Signature of Applicant or Agent 2010 Subscribed and sworn to me on this ____16__ day of __February DIANA E. BELL Notary Public - State of Kansas My Appt. Expires 8-10-11 My Commission Expires: